L FOE 9 ZA4E B2 50 7 £R2o] 1 50 /12 971 1709 10
9] o] Rtk E2F8F0] 1500 Y& 94 fodd 2AE
ol 2 A7 B 4= QleA] ek

@200 7N @ 2507H ® 30074
@ 35071 ® 4007




2] =
]Tﬁ 3 7} A" 5 AFF9] ZE2 2,900 Yola, o] AL K}
100 o] Hixchy Sict, g St 2FR o] Zhe Anpelr}) .

D 200 ¢
@ 250 ¥ ® 300 ¥
@ 350 ¥ 3)400 ¥

SEREEEPEERE g
i o) 7422 x 9, A9 & Al A S y Poletn
x=y+ 100 -+ (1)

5x+3y=2900 ---(2)

N i}
(1)& (2) ol HASHH 5(y + 100) + 3y = 2900
LAAE EH y =300

0] 7 1 4009

e
fiEL
=




ol® 5ol A Hx|9} §h& gstod & 20 vhalE AF8sha glek. HA
o thals} ghe] tha] 42 shotw B 58 A2k gt BAI9} 5
™

[e]
-

@ A 7 ek, S 13 ek
@ =HA g ukE, & ;12 vk
@)=AA 2 9 ukE], & ¢ 11 vk
@ = 2 10 v, S 10 Wk
® A 11wk, o9 v

EHX] = X U]'E] =1 E y D}E]E]':ﬂ— ﬁ}ﬁ

x+y=20
4x 4+ 2y = 58

AYste] Z2H x =9, y=11 oJt}.




=2 t}o
o T = %/\}:

0] st 842 28] 2ol Aol
A D EE ek Aoleh. AL
A& dot §48 429 Bol7} 250m7}
o2 1, o] B AL

v
it
o
UE
o
[.'o
rlJ.d
_>.i
é
tlo
. 8
N
o
=
)

i

® 10g @ 20g ® 30g @)40 g ® 50¢g

B ~

(1) 2= A (0,13) 2 AYUEZR y = ax + 13°]2} 5}H, A
mu@%ﬂwaimﬂa@a:%ﬂq.

3
(2)25 = 750+ 13

S x =40




